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[ JL555 800 49% 51% | X:22500, £:25300, £:23,800. H:25.000 41% 7,000, :27.700, £:29.000, H:29.100
L557 500 49% 52% :24,000, H:24.800 43% 128,100, H:29,500
JIIES [ JL552 800 24% 47% % +:25000 38% :29,000
| J554 400 52% | H:25,600 43% 29,700
[ JL556 22,400 49% 52% 25,600 43%
[_JLs58 25,600 42% 45% 6,400, H:28.300 36%
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B Ea EEY | E—o8 E—o4
BABR | ERE | x| msiw #31%
R (FE) =3I RRCHE) % L 23,000 47% 50% £:27.200, H:22,500 40%
L 22,500 8% 51% +:24,700
L 21,000 52% 54% | 2::22,000, H:24,000
FzES Lt 20500 53% 56% : t H:27,000
L 22,000 50% 52% H:22,500
L 21,600 50% 53% 8,000, £:30.100
R (FE) =K RRCHE) % L 22500 48% 50% :26,800, :28,400, % 1:32,500, H:26,600
L 22,700 47% 50% H:27.100, £:29,800, £:28,300
L 22,200 48% 51% | :26,600, 2:29.300, +:27.800, H:27.600
L 22,200 48% 51% F7K:27.400, £:30,500, H:32,000
HILFE L 22500 48% 50% :31,500, £:32,500, H:26,000
L 22,200 48% 51% 7,800, H:28,400
L 22,200 48% 51% 7,800, H:29.400
L 22,000 52% 22,200, 7K+ 21,700, £:23,900, H:25.900 230,000, +:26.300, H:30,500
RRCPE) =EE FR CRE) % JL585 ,900 50% £:24.200, B:18,300 +:27.300, H:22,200
L587 000 44% 00, £:24.700, £:24.100. H:22500 :23,000, %:26.700. £:26.100. H:24500
JL589 700 48% | 22300, H:24800 |£:22,300, H:24,800
EEER L584 800 45%
JL586 20,000 47% 221,000, £:19.300, H:25700 £:24,100, £:22,800, H:28.700
L588 500 22,000, £:20,300, H:25.700 £:22.000. +:20.300, H:25.700
R (FE) =F& R CHE) % JL 300 55%
L 300 55%
JL 300 55%
L 300 55% | 9:17.400 H:17.400
JL 300 55% |2 A:17.400 £ H:17400
L 300 55% | 9:17.400 H:17.400
BHE JL 300 55%
L 300 55%
JL 300 55%
300 55% |2 H:16900 % H:16.900
| Ll 300 55% |2 H:17.400 £ H:17.400
L150 300 55% | H:17.400 £ H:17.400
RRCPE) = HRCRR)# JL155 500 A
500 2
500 2
RE 500 A
500 2
500 [ 5% |
RRCPE) =MHE R CHE) % JL161 700 48% :14,300 45% 5,000
600 45% £:17.100 42% £:17,900
500 52% £:14,900, B:16,600 49% +:15,600. H:16,300
B 900 47% 117,600, £:14,900, H:16.900 48% 116,600, % H:17.100
AR JL162 B 700 44% +£:17,800, H:14.700 44% +£:17.900, B:16400
Li164 B 300 52% £:15,700, H:14,700 50% 16,400, H:15400
JL166 700 48% 116,700, H:17.400 47% 117,400, +:16.400, H:17.900
L168 700 44% 117,900, £:14.700. H:17.000 4% 117,600, F:15.400, H:17.100
BRCRE) =/ HRCRE) % L183 .200 59% 53%
[ JLi85 200 55% | H:11.200 49% _|B:12.700
L187 200 59% 53%
[ JL189 200 59% 53%
1 200 59% & H:11,700 53% |2 H:13,00
L193 200 59% & H:11,700 53% | H:13,00
INASE 2 200 59% 53%
L184 200 59% 53%
[ JLi86 200 59% 53%
[ JLiss 200 59% 53%
[ JL190 200 55% 49%
L 700 57% | 2:12.200 51% |2:13,700
FR CHE) =W ESAEEED L2 900 5:14,400 62% | H:14,400
000 b 4
000 4%
L2 000 2 7
[E0ES Lz 000 1%
L2 500 » | 4915000, H:14.500 7% | A X:15.000. H:14500
L236 000 4 4%
1238 000 2% 2
RRCHE) =E5 ESAEEED 1253 800 3 3%
[ JL261 300 59% | 2::16.200. H:14400 59% |2::16.200. H:14400
L263 400 61% 217,200, H:16,200 61% |2:17.100, H:16,200
353 |Ji252 700 60% 60%
[ JL254 200 56% 700 56% 700
[ JL256 400 61% 700, 15200, H:16000 700, 15200, H:16000
[ JL258 800 63% 700, £:15,200, B:16,000 s 700, £:15,200, B:16,000
1260 800 3% 700, 15200, H:16.000 700, +:15.200, H:16,000
RRCAE) =ILOFH HRECRE) R L291 ,700 7" )
| JI293 000 1% 216,900, £:15,000, H:15,500 59% |2::16,900, £:15,000, H:15500
L295 000 1% |£:17,000, :14,800, H:17.700 61% |2:17,000, :14800, H:17.700
\IAFEFE | J290 100 3 63%
[ Jr292 900 56% | £:16,600, H:15,500 56% | +:16,600, H:15,500
1294 000 59% 6500, £:15,300 59% |2::16,500, £:15,300
RROPE)=HE HRECRE)# L277 800 51% 42% 0,500, £:21,000
L279 600 46% 34% 0
| Jr283 500 49% 40%
[ JL285 500 49% 40%
L287 500 44% 121,600, H:21,500 36% H:24.100
HER 276 900 54% £:16.900 5% +:21,000
[ Jr278 400 50% +:19.500, H:17.000 42% 2,100, H:19,600
[ JL280 500 52% 117,500 45% _|F
| Jl284 500 47% 500, H1:19.900 34% 123,700, H:24.100
1286 900 48% 500, H:18.900 36% |1 00, H:23,100
RER(PH) =@ HRCRE)E | __JL453 ,900 53% . 45%
[ JL4s5 900 53% 500 5%
[ JLas7 900 53% 400 45%
[ JL459 900 53% 5%
L461 900 53% 45%
L463 900 53% 5%
465 900 53% 45%
BESR |JL452 000 58% 50%
[ JLas4 400 54% 000 50%
[ JL456 400 54% 000 46% | H:17.700
[ JLass 000 58% 400 50% | H:19,100
[ JL460 000 58% 400 50% | H:19.100
[ JLa62 000 52% 45%
L464 000 52% 5%
REROPE) =/ HRECRE) R L47 400 57 558
L 500 1 49%
L 300 4 52%
L 400 7 55%
[ JL4s: 400 7 55%
L485 500 4 52% 18, 1
L487 100 46 44% 520,800 500
BT L474 100 52% 50% +£:18,900, H:16,100
L476 600 8,600, H:16,100 49% +£:19.400, H:16,800
L478 400 5.17.600
L480 400 5:17.600
[ Jr4s2 900 7,600, H:19.400
| Jr4ss 300 4 t 5:19.700
L486 600 48% |2 A:20,000, £:19.200
R (PE) =8/ RECRE)® L491 1400 54% 9400
L493 900 52% X 4,100
L495 800 55% 118,400, £:18,000. H:19,100 55% |2:20,600, +:22,.800, H:21,000
L497 400 54% 119,400, £:18,400, H:19,600 54% 121500
L499 400 48% | % H:20,500 39% 00, £:17,400
BT L490 400 51% +£:19.400 52% 100
| Jr492 400 54% 118,400, F:18,900 52% 19,100
L494 800 55% 121,000, £:18,400, H:19.400 44% 122,200, £:22.700
| JL49 400 48% 21,000 40% :24,800. +:21,200
498 400 48% 21,000 40% H:24,800, £:21,200
R (@) =l RECRE)® L431 100 55% t:18,100 45% +:21,900
[ Jr433 100 50% :17.100 40% | H:20900
| JL4s3s 100 53% | £:18,600 +:20900. H:22.900
L437 500 57% 100, 18,600, H:19.100 55% 118,800, +:20,900, H:24,000
L439 20,200 : 4T% 200, H:21,800 7% 126,000, £:20,900, H1:25,600
L443 20,200 44% 47% 122,200, H:21,800 7 126,000, £:20,900, H:25,600
AT [_JL430 19,600 45% 49% :17.100 7% +17,800
L432 20,700 42% 46% 1,800, H:18,600 7 £:26,100. B
L434 500 51% 54% 100 +:18.600, H:19.100 4 118,300, T
[ JL436 600 48% 51% 100, H:20.200 43 122,400, £:20,900, H:22,900
| Jr4ss 600 48% 51% 600, £:17.600. H:21.700 43% 2,900, £:20,900, H:25,000
L440 100 47% 50% 1200, £:17,600, H:20.700 39% 125500, £:20,900, H:24.100
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=] i EEY | E—o8 5 E—o4
BABR | ERE | gpix | waiE ERE | wzix
FR CHE) =FL M RERCHE) R L371 000 56% 59% 118,400, £:17.700, H:16.400 000 59% 118,400, £:17.700, H:16.400
L373 900 4 57 19,300, £:19,000, H:17.700 900 57 119,300, £:19,000, H:17.700
JL3971 900 4 7 119,300, £:19,000, A:17.700 900 7 119,300, £:19,000, H:17.700
L 900 4 7 5:19.300, £:19,000 900 7 5:19.300. £:19,000
L 20,100 4 121,600, +:19,000, H:20.700 20,100 4 121,600, +:19,000, H:20,700
L 20,100 4 :20,900. £:19,000, H:20,700 20,100 4 20,900, £:19,000, £:20,700
TEAME L 100 3 600, £:17.400, H:16.400 63 600, £:17,400, H:16.400
L 800 55% 000, H:17.000 55% 000, H:17.000
[JL3 300 58% 200 58% 200
[ JL3972 500 60% 400, H:18.300 60% | +:17.400. H:18,300
L376 300 58% 600, £:18,100, H:19.400 58% 600, £:18,100, H:19.400
378 700 66% 700 66% 100, H:17.700
R (FE)=X% HRCAE) % [ __JL66i 500 49% 43% _[£:25000, + H:22,900
| JL663 500 49% +£:22,000, H:20,400 43% 245500, H:22.900
[ JL665 500 49% |2 +:22,000, H:20,400 43%
L667 500 49% 122,500, £:22,000, H:20,900 3% &2 Nl
JL669 500 49% | £:22,500, £:20900, H:22,000 7% A EI 24,500, & 25 ooo 23, 400
671 000 48% 23,000, £:20,900, H:22,500 [£:25,500, +:23.400, H
RA%E JL662 600 56% 119,800, £:22,900, B:21 400
|_JL664 000 48% £:24,500, H:22,400
[ JL668 000 48% +:24500, B:22.400
L670 400 52% | % H:21,500, £:21,000 H:23,500. 23,000
JL672 500 47% | £:21,000 F 23,000
674 000 48% H:22,500, £ :20,400 H:24,500, 22,400
BR(PHE) =RiE HRCRE)E [ __JL605 20,300 56% 1,800, £:20,800, H:19,400 4,200, £:23,700, H:21,700
[_JL607 20,300 56% 1,800, H:19,400 1,700
[_JL609 20,200 56% 500, +:21,300, H:21.400 3,700
L611 200 56% 500, £:21,300, H:21.400 4,200, H:23,700
JL613 200 58% 900, £:18,400, H:21.400 4, zoo i zo 700 :23700
L615 400 60% ,900, H:20900 . H:23,200
RBs JL606 400 60% | +:19.700 EI zo aoo i zo eoo
L608 400 60% | H:20,100
JL¢ 400 60% :20,100, H:20,700
L 400 54% H:21,800. +:21.300
JL¢ 400 54% 5:21,800, £:21300
L 200 58% H:21,500, +:20,300 ¥ 4300 :t 22,800, H:23.300
RRCPE) =X FR CRE) % JL623 ,300 56% :17,900 100
| JL625 000 54% 120,500, B: 17900 700, H:19.100
[ Jl627 20,000 54% 700, H:19,100
L629 400 58%
JL631 900
[ Jl633 B 900
[ JL3955 B 400 21700, 19,100, B21.200
637 B 200 521,700, £:19,100
JL639 900 5:21,700
(33 | Ji622 800 :19,600
[ Jl624 800 +19,600
[ JL626 800 9,600
| Jl628 900 +£:20,100, H:20,600
L630 7.900 E 18400, H.20.500 f:20, 22
L632 20,500 000, £:18,400
1634 20,500 000, £:18,400
[ JL3956 20,500 000, £:18,700
1638 900
RER(CPHE)=5H HRCRE)E | __JL6s7 500
[ JL689 500
[ JL6ot 500 F:22.000, B:20.200
[ JL693 400 9,900, F H:20,700
[ JL695 000 0,700, H:22,000
L697 000 2]
EEES |_JL68s ,000
[ JL690 500 1,000 __
[ JL692 600 9,800, H:21,700
[ JL694 600 120,200, £:19.800, H:22.000
[ JL696 000 00, +:20,000
L698 20,700 00, £:19,800, H:20500
RERCPHE)=ER RR(CRE) % 400
L 800 % £:22800, H:18.400
L 100 £ 22,600, H:20300
L 400 0300, £ F:21,800, H:20.800
L 400 9,400, £:20,800
[ JL6s 400 000
[ JL65: 400 1,500, £:18,800
655 20.700 21,500, +:18.400. H:21,000
BRER L ,400
L 400 [%:20,000. £:20,500
L 400 [£:20,300, £:20500
L 900 20,300, £:20,700. H:21,000
L 20,000 . H:21,000
[ JL650 20,800 121,500, +:20,600, H:22,000
[ JL652 20,800 121,500, £:20,600, H:22,000
L654 800 21,500, £:19.800. A:22.000
FR(RE) =4IRFFm) | _RERE) R L3049 600 600, 300, +:21,500, F:23,000
ALIE T a%) % | L3040 21,500
RR () =18[ EEAGTE] 3057 6,100, +:20600, H:24.200 7,100, £:20700, H:24,300
EC1] 052
KR (5 =251 PNAGEEE 101 —
ESEVIES L2102 =
KR (25} =8 ABR (5D % L: 23,700 49%
B L: 23,700 49%
KR () =&F&HF KB () % L: 20,700 53%
L: 20.700 53%
L: 20,700 53%
ERRE L2152 20,700 53%
L2158 20,700 53%
Kk (FF) =#E R (B % L217 8,800 52%
L217; 7,700 55%
L217 800 52%
HER L217; ,800 52%
L217: 800 52%
L2171 800 52%
KR (B =1L& R (G % L220 .700 52%
[ JL220: 200 51%
[ JL2205 500 53%
[ JL2207 500 53%
[ JL2209 400 50%
L2211 400 50% 900
L2213 000 49% 00, H:23,600
=Y [ JL2200 500 47%
[ JL2202 300 45%
[ JL2204 700 49%
[ JL2206 700 49% ]
[ JL2208 700 49% 200, H:19,700 800, H:22500
L22 500 50% 121,000, +:19,300, H:21,200 700, £:20500
L22 500 50% 22,000, £:18,800, £:19.900
KR (FRFH =318 KR (75 % L22 100 54% 6,600, H:13,500
L22 100 51% +:17,600. H:14500
[ JL22 500 59% +15,600, £:16.600
L225 100 54% 17,000, £:16.600. H:17.100 19,900, +:19,400
R | JL224 800 52%
224, 800 52% +19,600
| JL224 800 58% | 7KA:15,300, :16,300, +:13,600, H:17.200 JK:18,100, £:19,100, 16,400, H:20,000
2250 800 58% | K7A:15,300, %:16,300, £:13,600, H:17.200 7500 JKK:18,100, £:19,100, F:16.400, H:20,000
KBR () =l KR (75 % L2301 800 45% | £1:12.300 100 & +:12,600
[ JL2305 300 47% 600
L2309 000 49% 1000
IS 2302 .000 49% 000
[ JL2306 000 49% 1000
2310 100 4% 400
KR (B =X KR (FFOF L2361 500 36% 5,800, H:14,000 600 6,100, H:14.100
[ JL2365 800 39% 15,500 900 5,600
L2367 000 38% 5.800 100 100
KA % [ JL2362 500 40% 5,500, H1:14,000 700 700, H1:14,200
2364 500 40% 5,500 700 700
2366 500 36% | £:14500 700 14,700
KR (B =R KR (FFOF L237 700 50% 700, H:15,000 200 300, £
[ JL237 700 50% 700, H:15,000 200 300, £
[ JL237 500 57% 500, £:15,500, H:15400 100 000, £:16,000, H:15900
237 000 52% 16, 500 800, H:16.900
REFE | JL237: 000 52% 700 500 6.200
[ JL237 500 57% 500, H:15,000 100 15,000, H:15600
[ JL237 500 57% 500, H:15,000 100 +£:15,000, H:15,600
L237, 000 48% 52% 3500, H:15.600 500 +£:14,100, H:16.200
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=] i EEY | E—o8 5 E—o4
BABR | ERE | gpix | waiE ERE | wzix
KR (B =fe R R (A L2383 ,600 48% 53% |&+:14,800, H:13,000 900 48% [#+:15,200, H:14,300
| JL2385 200 42% 47% .200 47%
L2389 700 44% 49% |2 H:15,200 200 47%
X L2382 400 45% 50% | 1:15.200. H:14.700 900 48% _[1:15200. H:14,700
L2386 200 42% 47% X 7K:15,000 200 47%
KR (B F) == KR (1) % L2431 000 47% 51% [1:15.900 100 51% [+£:16,000
L2433 400 700, £:19. 500 39% +£:18,700, H:17,000
400 500 43% 119,100, H:18,600
400 500 43% 119,100, H:18.600
400 3 318 500 43% 119,100, H:18,600
B3 [y 400 :16,300, £:17.800 600 46% 5:16,500, :18,100
J 400 +16,300, £:17.800 600 46% 5:16.500, £:18,100
| J 100 117,700, H:18.200 300 40% 118,000, H:18.400
J 100 +17,700, H:18.200 300 40% 118,000, H:18,400
600 5:18.700, £:17.100 7.900 38% 5:18,900, £:17,.300
KR () =R, KB (B % 500 +:15,000, H:13.500 500 55% £:16.500, H:14.100
[J 100 15,000, F:14,500 600 55% 15,500, £:15,000
[ J 500 000, H:15,500 000 54% 500, H:16.000
000 500 52%
000 500 52%
000 500 52%
BER&R 500 100 57%
[J 900 500 500 55% 500
900 000, H:15,500 500 55% 500, H:16,000
[J 900 ,000, H:15,500 500 55% 500, H:16,000
000 000 500 46% 500
000 000, H:16,500 7.500 46% :15,500, H:17.000
000 000, H:16.500 7.500 46% | £:15,500, H:17.000
[ZHE (RE) =fIRGFTE)| 2LEFHE [ ,000 [£ £:28,900, H:25,600 7,000 39% t:29,900, H:26,600
[ J 800 +£:31,00, H:26.900 9,800 33 + 32,200, H:28.000
200 [£:28.900. +:28,400, H:25,800 26,200 2 129,900, +:29.400, H:26,800
800 [£:26,000. £:22,600, H:26.600 21.800 127,000, £:23,700, H:26.600
20,800 [£:26,000. £:22,600, H:26,600 21,800 2 27,000, F:23.700, H:26,600
AREFFH R [ ,800 21.800 _
[J 300 [ 25500, H:24.200 25300 2 26500, H:25.200
600 :24,800, %:26.200, H:30,100 25,600 42% :
600 :24,800, %:26,200, H:30,100 25,600 42% | F:25800, £:27.300, H:30,100
500 [K:26.300. £:26.200, £:24.800, H:31.200 26,500 40% :27.400, %:27.300. 25,800, H:31.200
LRGTm) =5 LREGTRE [ 700 7.100 35%
[ J 200 H.18.300 700 29% | H:19,700
200 118,300 700 29% +19,700
EHRE [ J B 200 +:18.300, H:15.700 700 29% £:19,700, H:17.100
[J B 700 :18,300 100 35% :19,700
L: B 700 35% 40% | 9:18,300 7.100 35% | 8:19.700
IR Tm) =8B LREFTRE [ ,900 39% 44% 8,500 39%
[J 600 33% 38% | H:19.600 20.200 33% |H:21.300
600 33% 38% | H:19,600 20.200 33% | A:21,300
TREFE J 600 33% 38% |2 +:19600 20.200 33% |+ 21,300
J 900 39% 4% 500 39%
900 39% 44% 500 39%
FR=AREFTR) e | J 300 36% 40% 122,800, +:23,800, H:19,900 400 4% 124,800, +:25,900, H:22,000
300 2,800, £:23,800, H:19.900 400 4 4,800, £:25.900, H:22,000
REFTFRE [J ,900
700
E =R GHFR) (=3 | J ,300
[J 700
J 100
[J 000
600
AREFFRE [ 600
J 600
[J 100 40% 44% 600, H:20.800
J 200 30% 35% 3,600, F:20,600, H:23,800 1,100, B:24300
200 30% 35% 123,600, £:20,600, H 23,800 1
EBE=HEF TR LEE% 200 47% 49% 8,400
AR FTE 7,200 47% 49% 7,900, H:28.400
R =ls EEEES [ J 5,300 48% 51% :24,900
4,000 51% 53%
(=3 | J 4,300 50% 53% |4 1:25300, H:24,000
25600 | 8% 50% | +:25200
1Bl =25 EEEES [ J ,000 7 7
000 7% X 7
J 000 7 000 7%
000 7% 000 7
000 7 000 7%
EEES J 000 7 000 7
J 000 7 000 7%
000 7 000 7
000 7 000 7%
000 7 000 7
ZEEM =58 ZEE(NBR 900 49% |2 116,400, H:14900 800 6% | F:16.200
B 100 51% |2 H:15,600 800 46%
BHE(MR) =18/ BEE UM S 500 49% 53% | £ H:15000 500 53% [£H:15000
] 800 48 52% 800 52%
BAHE (ML) =R BEE MR 400 50% 53% +:18,600, H:15,300 ,000 49% _[£+:20,200, H:16,900
900 54% 58% 500 53% 0
600 55% 59% 200 54%
RAR 800 55% 58% 200 54%
600 52% 56% 000 52%
100 51% 54% 7.700 50%
1B =%8 B .700 53% 55% |E 3,400 52% 4,400
38 200 E 3,400 52% 4,400
T = ALIR (BT %) i 800 40% 44% 7.000 38% :
ALIR TR R 4,800 40% 44% + 8:25300 7,000 38% t H:27,500
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FH .
B Ea E—o4
AR | EEE |
(B, H) | AR (B % 1220 8,800 68%
CRE) =R FFH) | RERCIERE [__JL501 22,500 44%  [&1:24,000
[ JL595 25,100 37% 25,600, 2 128,100, H:24,700
| JC503 25,600 36% 30,200, H:25,300
[_JL505 7,100 3% 800, H:25.300
| JC507 100 32% 800, H:25,300
[_JL509 100 3% 800, H:24,700
L 100 32% 800, H:24,700
L 25,600 36% 200, H:25.300
L 25,600 200, H:25.300
L 700 7,600, £:27.100
L 300 25,300, 24,700, H:24,500
[ Ji52 500 25,800, 1:24,700, H:24,500
523 300 25,800, H:24500
JL525 500
L527 700 26700, £:30,000, :24.300, H:25.100
JL529 700 K:26,700, £:30,000, £:24,300, H:25.100
L531 500 :29,000, £:24.300
ARG T®) % [__JL500 ,600 4,200
[ JL502 300 26,600, H:24500
[ JL596 300 26,600, H:24,500
L504 600 [H:24.500
JL506 500 25,100
1508 500 H:24,700
JL 500 4,800, H:27,300
L 600 F:25,900, H:29,100
L 600
L 100
JL 100
100
100
100
700
300
500 >:25,600, H:26,100
R (FE) =18 EEACEDES .800 £:21.200
20,700 1,200, £:21,800, H:19.800
800 %:23,700, £:22.700, H:19,800
800 25,400, £:24,200, H:19.800
L 800 %:25.400, +:24.200, H:19,800
K 200 25,300, 2:25400, 1:24,200, H:20.700
L B 800 3,100, %:24.200, 23,800, H:20,700
K B 000 £:22,000, H:20.700
L B 000 2,000, H:20.700
K 000 2,000, H:21,500
L 20.700 22,000, £:21,000
L325 20,700 22,000, B:22,800
L327 200
[ JL329 500
331 500
[ JL333 500
L335 500
EEEES [ JL300 ,800 55%
[ JL302 500 48% 9,800
[ JL304 500 48% 9,800
[ JL306 800 48% | A2:23800, H:19,800
[ JL308 800 48% | A%:23800, H:20,900
L 800 50% | A:22,800, £ H:21.100
L 800 50% 22,800, + H:21,100
L. 20,900 52% 1600, H:22,600
L 20,900 52% 1,600, B:22,600
L. 200 51% 20,900, H:22,800
[ JL32( 800 50% 23,800, £:20,700, H:24,800
[ Jr322 600 48% 25
[ JL324 600 48%
[ JL326 600 3
[ JL328 600 N
L330 600 25,900, £:20,700
L332 20,700 53% 3,800, H:23,100
R CHE) =/ (%) | RmCHE)FE | JLo0i 29,700 38% £:30,700, H:29.100
[ JLo89 29,700 38% 700, H:29,100
[ Jroot 29,700 38% 700, 100
[ JLo03 29,700 38% 700, H:29,100
[ JL905 29,700 38% 700, H:29,100
[ JLoo07 29,500 39% 500, H:28,900
[ JL909 7,300 43% 9,500, % +:30.500, H:28,900
L913 7,300 43% | A:29,500, 2 1:30,500, H:28,900
L915 7,300 43% |2 30200, H:28,600
L917 7,300 43% |2+ 30200, H:28,600
L999 — — —
L919 7,300 43% £ §:28,600
L921 7,300 43% 28,600
[ Jro23 7,300 43% F:28,600
L925 7,800 42% 2,800, T H:28,600
PR (RE R [_JL900 6,300 45% 1+ 8:27.100
[ JL902 26,300 5% £ H:27.100
[ JLoo4 7,100 44%
[ JLoo4 100 24%
|_JL906 000 42% 27,500, H:29,100
[ JLoo8 000 42% 27,500, H:29,100
L 500 7 29,200, H:31,000
L 30,500 7 29,000, H:31,000
L 30,500 7 29,200, H:31,000
L 30,500 7 29,000, H:31,000
L99| 30,500 7 29,200, H:31,000
L918 30,500 7% | +:29.00, H:31,000
[_JLoos — — =
[ JL920 29,000 0 28,000, H:30000
L922 29,000 0 28,000, H:30,000
KR (D) =4 FFm) | KREFDHR L2001 7,200
L3911 7,200
[ JL2005 200
[ JL2009 200 7 :
L2019 500 48% 28500, H:27.000
FLOR BT Fa%) % [_JL2000 500 48% +:27,500
L3912 900 53% 26,100, H:25500
[ JL2006 900 53% |2 25,100, H:25500
[ JL2010 200 7 28,500
2016 200 2 28,500
Ak (BI#E) =4LIR (FrFa) | KBk (&) % L2501 100 1 1:27.400
[ JL2508 4,100 1 f 27,400
L2505 4,100 1 27400
FLIR (BT F i) % |_JL2500 600 56" 23,200
[ JL2514 600 56% 23,000, H:22.200
2518 300 48% | H:28,000
KR (B FH) = 9%E GRER) KR (F751) % L2081 ,600 37% 1:28.300
[ JL2085 300 48% | % +:23,600
L2087 800 49% 23,600
B GIRER) 2 L2084 800 44% | H:25.100
[ JL2086 700 35% 28,600
L2088 700 35% 28,600
1B = FLIRE (BT F %) EEES L35 300 £:30,800
L35 300 £:30,800
AMFTFRFE |35 300 30,800
35 300 30,800
R (FE) =& @3l R (HE) % L565 500 £:32,000
| JL567 500 £:32,000
L569 300 30,800, 128,800, H:29.800
eSS 1562 500 43%  [$:32.000, +:28.400, H:32,300
[ JL564 500 41% 32,000, £:28,400, H:33,300
L566 800 45% | £:32,000, :25,100, H:31.600
R (CFE) =)l ESACCEDES L6551 500 39% 32,400, 1:31,000, H:27,600
| JL553 100 38% | &+:32,00
[ JL555 300 39% | X:27,900, £:32,200, H:29.100
L557 600 32,000, H:29,500
JIIES |_JL552 29,100 K:28,900, £:34,000
| J554 26,500 33,500, H:29.700
[ JL556 30,200 35% | /kK:30.400, 235200, H:33,300
[_JLs58 29,700 36% | 234,700, H:32.800
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FH .
B Ea E—o4
AR | EEE |
R (FE) =3I RRCHE) % L 7,500 40% [£:31,700, £:31,200, B:27,000
L 7,000 1% | &£:29.200
L 4,700 46% | X:25.700, £:31,700, H:27500
EIEES L 4200 | 48% |:X:25.200. £:31,900. £ H:25.500
L 26,500 43% | &+ H:27,000
L 26,100 43% 27,100, %:32,600, £:26,500, H:29.100
R (FE) =K RRCHE) % L 25,700 43% [ :26,500, X:26,200, 7K:26,900, A:27.900, £:31,600, £:32,000
L 26,200 42% | H:26.400, A H:26.600. £:29.400. £:28,000
L 25,700 43% 25,900, A:26,100, £:29400. 1:27.500, H:27.100
L 26,200 42% K:26,500, %:29,000, H:31,400
HILSE L 26,900 41% | F:27.900, A:26,500, £:30400. £:32.000. H:25.700
L 25,700 43% 29,000, + H:27,500
L 25,700 43% 29,000, £ H:27,500
L 25,700 26,000, %:28,500, H:29,900
RRCPE) =EE HRECRR)# JL585 ,500 £:27.300, H:22.300
L587 B 000 27,800, 1:26.100, H:24,600
JL589 B 700 [£:24.400, H:26,800
EEER L584 B 400 25,300
L586 B 000 [ £:26,800, £:22.800, H:28.700
L588 B 600 24,100, 22,400, H:27.800
R (FE) =F& R CHE) % JL B 000
L B 000
JL B 000
L B 000 H:19.100
JL B 000 £H:19.100
L B 000 H:19.100
BHE JL B 000
L B 000
JL B 000
B 000 % 5:18,400
B 000 £ 8:19,100
B 000 50% | H:19.100
HRCRR)# B 500
B 500
B 500
5 B 500
B 500
B 500 | ¢
R CPE) =HE RRCAE) % B 400 45% 5,000
B 300 42% £:17.900
B 200 49% 15,600, H:16,300
B 600 45% 8,300, +:15.600, H:17,600
FREFE B 900 44% 17900, H:16,400
B 000 50% 16,400, H:15.400
900 47% 7400, +:16.400. H:17,900
900 44% 7,600, F:15.400, H:17.100
BRCRE) =/ RRCPE) % L183 700 53%
| JLi8s 700 49% | H:12.700
L187 700 53%
[ JL189 700 53%
1 700 53% |2 H:13.200
L193 700 53% | H:13,200
INASE 2 700 53%
L184 700 53%
[ JLi86 700 53%
[ JLiss 700 53%
[ JL190 700 | 49%
L 200 1% 213,700
RRCPE) =W HRECRE) R L2 ,900 £:14.400
L2 000
L2 000
L2 000
[E0TES L? ,000
L2 500 7% | H X:15.000. H:14500
L236 000 4
1238 000 4
RRCHE) =E5 R CHE) 1253 800 3
[ JL261 300 50% | 216,200, H:14.400
L263 400 61% |2:17,100, H:16,200
(%3 |Ji252 700 60%
[ JL254 200 56% 700
[ JL256 400 61% 700, £:15.200. H:16,000
[ JL258 800 63% 700, £:15,200, B:16,000
1260 800 3 700, £:15.200. H:16,000
RRCAE) =ILOFH HRECRE) R L291 700 7"
| JI293 000 #:21,000, £:15.000. H:15,500
L295 000 %:17,000, +:14,800, H:17.700
WIOFHFE | J290 100
[ Jr292 900 5 18,000, £:16,500, H:15,500
294 000 59% 19,500, £:15.300
RROPE)=HE FR CRIE) % L277 ,900 42% 20,500, £:21,000
L279 700 34% 21,600
| Jr283 20,600 40%
[ JL285 20,600 40%
L287 22,100 36% H:24,100
HER 276 19,000 45% £:21,000
[ Jr278 20,000 42% +£:22,100. H:19,600
[ JL280 100 [H:20.100
| Jl284 900 700, H:24,100
1286 200 700, H:23,100
RER(PH) =@ RERCRE) S [_JL453 700 ¥
[ JL4s5 700 300
[ JLas7 700 200
[ JL459 700
L461 700
L463 700
465 700
BESR |JL452 700
[ JLas4 100 7.700
[ JL456 100 7.700
[ JLass 700 9,100
[ JL460 700 9100
[ JLa62 700
L464 700
REROPE) =/ HRECRE) R L47! 100 _
L 200 8,800, H:17.500
L 000 8,000, H:17,500
L 100 7500, H:18.200
[ JL4s: 100 17500, H:18,200
L485 200 8800, +:17.500, H:19,800
L487 800 20,800, 117,500
B L474 800 18,900, H:16,100
L476 300 19,400, H:16 800
L478 100 7800 +:17.600. H:18,300
480 100 7,800, £:17.600, B:18,300
[ Jr4s2 600 8,000, H:20,100
| Jr4ss 100 20,400, 117,600
L486 400 20,700, £:17.600
RER(CPE) =84 RECRE)® L491 500 23,600
L493 000 24,100
495 800 % [2:20500, £:22.800, H:21,000
497 400 54% H:21.500
499 800 39% |2 H:23900, :17,400
TS L490 100 52% £:19.100
| Jr492 200 44% | %:29200. £:22,700
L494 600 45% 200, H:23.300
| JL49 600 40% 800, £:21,200
498 600 40% 800, £:21,200
RRCPE) =1 RECRE)® 431 20,900 45% ,900
[ Jr433 2,900 40% | H:20.900
| JL4s3s 8,200 52% |2 120,000, H:22,900
L437 7.200 55% 18,800, 1:20,900. H:24,000
| JC439 4,000 7 26,000, £:20,900, H:25,600
L443 4,000 26,000, £:20,900, H:25,600
AT [_JL430 20,400 17,800
L432 4,100 26,100, H:20,400
L434 700 18,300, £:24,100. H:21,400
[ JL436 900 [ £:22.400, £:20,900, H:22.900
| Jr4ss 900 22,900, £:20,900, H:25,000
L440 400 25,500, £:20.900, H:24.100
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FH .
B Ea E—o4
AR | EEE |
R (FE) =AM RRCHE) % L371 20,700 53% 21,100, B:18,900
L373 21,900 50% | £:22300, +:22.000. H:20.400
JL3971 21,900 50% 22,300, £:22,000, H:20400
L 21,900 50% % H:22.300, :22.000
L 23,100 47% 4,300, 1:21.700, H:23.700
L 23,100 47% 3,600, £:21,700, H:23,700
TEAME L 100 56% 1,600, £:20.400
L 800 48% 22,000, H:20,000
[JL3 300 51% 21,200 _
[ JL3972 20,500 53% | 20400, H:21,300
L376 1,300 51% 24,300, 120,800, H:22.400
378 7.700 50% |£:22600, 1:17.200, H:20,700
R (FE)=X% RRCAE)E [ __JLe6l ,000 43% _[£:25000, £ H:22,900
663 000 43% +£:24500. H:22.900
JL665 000 43% |+ 24,500, H:22.900
L667 B 000 43% 25,000, +:24,500, H:23.400
JL669 B 400 47% | AH:24,500, £:25000, T:23 400
B 500 42% 225500, 23400, H:25000
EES B 200 55% 19,800, T:22.900, H:21.400
B 000 43% £:24500, H:22,400
B 000 43% £:24,500, A:22.400
B 400 47% H:23,500. £:23.000
B 500 42% | £:23,000
B 000 43% H:24500. 22,400
R CHE) =Rk EEAEEDED B 200 50% 4,200, 1:23700, H:21,700
B 200 50% 24200, B:21,700
B 900 50% 24,200, B:23,700
B 900 50% +:24.200, H:23.700
B 500 53% 4,200, 1:20.700, H:23.700
B 900 57% 2,00, £:20,700, H:23,200
RIEF B 500 58% | H:20,300, +:20600
B 300 56% 2,000, H:21,000
JL¢ B 20,300 56% 2,000, H:21,900
L B 23,300 49% 23.800
JL¢ B 23,300 49% 23,800
L B 21,800 53% 300, 22,800, H:23.300
RRCPE) =X HRCRR)# JL623 B 20,700 53% 100
625 B 200 51% 700, H:19.100
JL627 B 200 51% .700, H:19,100
L629 B 600 55% 1700, H:19.100
JL631 B 100 56% 200, £:19,600
[ Jl633 B 100 56% 200, £:19,600
[ JL3955 B 600 55% .700, £:19,100, H:21.200
637 B 600 55% 21,700, £:19.100
JL639 100 56% 21,700
EBAR | Ji622 700 50% 9,600
[ Jl624 700 50% 9,600
[ JL626 700 50% 9,600
| Jl628 800 57% 20,100, H:20,600
1630 600 55% 20,100, H:22,200
L632 200 49% 22,700, :20,100
1634 200 49% 22,700, £:20,100
[ JL3956 200 49% 22,700, £:20,100
1638 800 57% 2,700, H:22.200
RER(CPHE)=5H HRCRE)E | __JL6s7 ,900 50% 22,400, B:19,400
[ JL689 900 50% 22,400, H:20,600
[ JL6ot 900 50% 22,400, H:20,600
[ JL693 100 52% 21,400
[ JL695 400 51% 1,100, B:22,400
L697 400 56% 3,400, H:22.400
EEES |_JL68s 400 56% 21,000
| JL690 500 51% 1,000
[ JL692 20,000 54% | £:20200, H:21,700
[ JL694 20,000 54% | %:20,600, £:20.200. H:22.400
[ JL696 400 49% 3,300, £:20,500
L698 100 52% 3,300, £:20,000. H:21,900
RERCPHE)=ER RR(CRE) % L 700 59% 19,400
L 200 50% 23,700, H:19.400
L 200 50% 23,700, H:20,800
L 700 59% | 420300, % T:22.800. H:20,800
L 700 59% | A% 119,400, H:20800
[ JL6s 20,500 56% 22.800
[ JL65: 20,500 56% 22,500, H:22,800
655 22,500 51% 5:23,000, £:19.400
BRER L 18,700 59%
L 20,800 55% | 221000, £:21500
L 20,800 55% | 221,000, £:21,500
L 200 58% |£:21,000, +:20800, H:21,500
L 000 54% | +:20500, H:21,500
[ JL650 800 53% |#:23000, £:20500. B
[ JL652 800 5% |&
L654 600 51% |2
FR(RE) =4IRFFm) | _RERE) R L3049 700 36% |4
ALIE T a%) % | L3040 600 36% 4,200
RR () =18[ EEAGTE] 3057 500 | A:22,000, #:27.100, F:20.700, H:24.300
EC1] 052 800
KR (5 =251 ABR (5D % 101 500 +:28.600
LEBIFE L2102 500 28,600
KR (25} =8 ABR (5D % L: ,700 4,700
B L: 700 49% 4,700
KR () =&F&HF KB () % L: 800 48% 23,300, H:22,300
L: 800 48% 23,300, H:22,300
L: 800 48% 22,300, H:23,300
ERRE L2152 800 48% 300, H:22.300
L2158 800 48% 23,300, 22,300
KR (D =@ KR (FFD % L217 900 47% 21,400, H:20,400
L217; 800 50% 20,900, H:20,400
L217 900 7 00, H:21,400
EP:ES L217 20,900 7 +:21.400, H:20,400
L217: 20,900 7 1400, 120,400
L2171 20,900 7 1400, £:20,400
AR (B =& KR (FFD % 1220 20,000 46% +:22.600. H:19.800
[ JL220: 21,000 43% £:23,100, H:19,800
[ JL2205 20500 45% 600, £:21,500
[ JL2207 20,500 45% | % 0:22,600, £:21,500
[ JL2209 20,500 45% 22,600, £:20,900
L2211 20,500 45% | % H:22,600, £:20,900
L2213 500 45% . £:20900. H:23,600
e s [_JL2200 .100 43% 22,100
[ JL2202 600 42% 700, H:21.300
[ JL2204 400 42% 800, H:22.500
[ JL2206 400 42% 800, H:22,500
[ JL2208 400 42% +£:21,800. H:22.500
L22 100 43% 700, £:20500
L22 600 47% 23,700, H:22500
KR (FRFH =318 KR (75 % L22 300 51% 7.800, H:16,800
L22 900 43% 20,400, H:17,300
[ JL22 300 51% 18,400, £:19.400
L225 900 46% |2 H:19,900, £:19,400
R | JL224 600 24%
224, 20,100 43% 9,600
[ JL224 500 50% | /KA:18,100, %:19.100, 16,400, H:20,000
2250 500 50% | JKA:18,100, %:19.100, £:16.400, H:20,000
KBR () =l KR (F751) % L2301 100 44%  [£1:12,600
[ JL2305 600 46%
L2309 000 49%
IS 2302 .000 49%
[ JL2306 000 49%
2310 400 42%
KB (RF) =K% KR (75 % L2361 ,600 35% 6,100, H:14,100
[ JL2365 900 38% 15,600
L2367 100 37% 100
KA % [ JL2362 700 39% £:15,700, H:14,200
2364 700 39% 700
2366 700 35% [ £:14700
KR (B =R KR (FFOF L237 200 48% 300, 17,200, H:15500
[ JL237 200 48% 300, £:17,200, B:15,500
[ JL237 100 55% 000, £:16.,000, H:15900
237 500 50% 800, H:16.900
REFE | JL237: 500 50% 16,200
[ JL237 100 55% 15,000, H:15,600
[ JL237 100 55% 15,000, H:15,600
L237, 500 50% 4100, H:16,200
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KR (B =fe R

215,200, H:14.300

1:15.200. B:14.700

KR (B F) ==

6,000

18,700, B:17.000

o

00, H:18,600

&

00, H:18,600

o

00, H:18,600

16,500, F:18,100

16,500, £:18,100

8,000, H:18400

8,000, H:18,400

8900, £:17,300

KR () =R,

£:15,500, H:14.100

5,500, £:15,000

500, H:16,000

,000, £:15,000, H:16,500

000, 1:15,000, H:16.500

,000, £:15,000, H:16,500

.500

500
500, H:16,000

,500, H:16.000

.500

,500, H:17.000

500, H:17,000

2 & = (R &) = #LIE (37 F )|

29,900, H:26,600

32,200, H:28.000

900, £:29,400, H:26,800

27,000, £:23,700, H:26.600

27,000, £:23,700, H:26,600

[ 26500, B:25200

25,800, %:27.300, H:30.100
F:25800, &
X:27.400, %

0, H:30,100
0, £:25,800, H:31.200

IRF TR =F:

9,700

9,

700
19,700, H:17.100

9,700

9,700

AREF TR =HE

H:21.300

H:21.300

£1:21,300

#Him=HIRF )

24,800, £:25.900, H:22,000

24,800, 1:25,900, H:22,000

23,500

26.400

E =R GHFR)

25,000, H:21,100

25,500, H:21,100

22,300, H:21.100
1.500, &

NN
7l

!

2,200, B:22,400

22,700, £

,200

4,100, £:21,100, H:24,300

4,100, £:21,100, H:24.300

EE=HEFHmTR)

0,900
0,400, H:30.900

R =ls

25,900

25,900, H:27.100

1:27.200, B:25,900

25,900

BEE (MR =R

H:16.200

BHE(MR) =18/

£ 8:15,000

BAHE (ML) =R

20,200, H:16,900

6,900, H:17.200

7,400, 1:16,500, H:18,000
00

ol

7.400, £

7.500, H:18,500

6,200, H:20,000

1B =#8

4,400

24400

T = ALIR (BT %)

H:27.500

H:27.500
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o 7/17 7/18 7/19 7/20
B B mimm| m=am EEE | EEE
A B (B8FE) =R CHEA) PNAGEDES JL220 1H# 9,600 9,600 9,600
RRCHB) =#IRFFR) | RRPB)E JL501 1B A 4,000 .500 23,500
JL595 1HET 8,100 4,900 24,900
JL503 1B 0,200 500 25,500
JL505 1HET ,800 5,500 25,500
JL507 1B ,800 5.500 25,500
JL50 1HET 800 5,500 25,500
JL5 1B ,800 5.500 25,500
JL5 1HET 0,200 5,500 25,800
JL5 1 BT 0.200 5.500 25,800
JL517 | 218l 27,600 24,900 25,800
JL519 [ 21HAm 25,300 24,700 25,800
JL521 21H Al 25,800 24,700 25,800
JL523 | 21HAI 25,800 24,700 25,800
JL525 | 21HAl 26,800 24,700 28,700
JL527 | 21HAm 30,000 25,300 28,700
JL529 | 21HAl 30,000 25,300 28,700
JL531 21881 29,000 24,700 26.300
AL (B F %) F |__JL500 21 H AL 25,600 24,500 24,500
JL502 | 21HAI 26.600 24,700 24,700
JL596 | 21HAl 26,600 24,700 24,700
JL504 | 21HAm 25,600 24,700 24,700
JL506 | 21HAl 25,100 24,700 24,700
JL508 | 21HAl 24,500 24,900 24,900
JL510 | 218l 24,800 27,500 29,300
JL512 | 218l 25,900 29,300 —
JL514 | 2180 25,900 31,400 —
JL516 | 21HAI 26.400 32,000 —
JL518 | 21HAl 26,400 32,000 —
JL520 | 21HEm 26.400 32,000 —
JL522 | 21HAl 26,400 32,000 —
JL524 | 21HAm 26.400 32,000 29,700
JL526 | 21HAl 26,400 29,700 29,700
JL528 | 21HAI 25,600 26.300 26.700
JL530 | 21HAl 25,600 26,300 26,300
RE CFE) =1&k EENERTDES JL303 | 21H&Em 21,200 20,000 20,000
JL305 | 21HAl 21,200 20,000 20,000
JL307 | 218l 23,700 20,000 20,000
JL309 | 21HAEl 25,400 20,000 20,000
JL31T1 21 &l 25,400 — 20,000 20,000
JL313 | 21HAl 25,400 — 20,900 20,900
JL315 | 218l 24,200 20,900 20,900
JL317 | 218l 22,000 20,900 20,900
JL319 | 21HAm 22,000 20,900 20,900
JL321 21H Al 22,000 21,700 26,600
JL323 | 218l 22,000 22,200 26,600
JL325 | 21HAl 22,000 23,000 26,600
JL327 | 218l 22,700 23,000 26,600
JL329 | 21HAl 26,700 24,500 26,600
JL331 21 &l 26,700 24,500 26,600
JL333 | 21HAl 26,700 24,500 26,600
JL335 | 21HAl 26,700 24,500 26,600
EEES JL300 21 B Al 19,800 20,000 20.000
JL302 | 21H&Em 22,500 20,000 20,000
JL304 | 21HAEl 22,500 20,000 20,000
JL306 | 21HAl 23,800 20,000 20,000
JL308 | 21HAl 23,800 21,100 23,200
JL310 | 218l 22,800 21,300 24,300
JL312 | 218l 22,800 21,300 24,300
JL314 | 21880 21,600 22,800 —
JL316 | 21HAl 21,600 22,800 —
JL318 | 21HAI 21,200 23,000 —
JL320 | 21H&l 23,800 25,000 —
JL322 | 21880 24,800 25300 —
JL324 | 21HAl 24,800 25,300 —
JL326 | 21HAl 26,200 25300 —
JL328 | 21HAl 25,900 25,300 —
JL330 | 21HA0 25,900 25300 —
JL332 | 21HAl 23,800 23,300 26,600
HR(CHE) =h#8 (RE) HERCHA) % JL901 21 B 30,700 29,800 29,800
JL989 | 21HAM 30,700 29,800 29,800
JL99T 21 &1 30,700 29,800 29,800
JL903 | 21HAl 30,700 29,800 29,800
JL905 | 21HAl 30,700 29,800 29,800
JL907 | 21HAl 30,500 29,600 29,600
JL909 | 21HAm 30,500 29,100 29,100
JL913 | 21HAl 30,500 29,100 29,100
JL915 | 218l 28,900 29,100 29,100
JL917 | 218l 28,900 29,100 29,100
JL999 | 21HAm — — —
JL919 | 21HAEl 28,600 29,100 29,100
JL921 215 A1 28,600 28,800 28,800
JL923 | 21HAl 28,600 28,800 28,800
JL925 | 21HAl 32,800 28,800 28,800
hiE (R ER) K JL900 21 HAL 27.100 27.300 29,800
JL902 | 21HAm 27,100 27,300 29,800
JL994 | 21HAEM 27,100 27,300 29,800
JL904 | 21HAl 27,100 27,300 29,800
JL906 | 21H®EM 28,000 29,300 32,700
JL908 | 21HAl 28,000 29,600 32,700
JL910 | 21H®EM 30,500 31,200 39,900
JL912 | 21Hal 30,500 31,200 39,900
JLot4 | 21HAEm 30,500 31,200 39,900
JL916 | 21HAl 30,500 31,200 39,900
JL996 | 21H®EM 30,500 31,200 39,900
JL918 | 21HAm 30,500 31,200 39,900
JL998 21 B R — — —
JL920 | 21HAl 29,000 30,200 30,200
JL922 | 21HAEM 29,000 30,200 30,200
RO (A =R (FFak) | KBREEFDSE | JL2001 | 2188] 28,500 27,400 27,400
JL3911 | 21HAl — 27.400 27,400
JL2005 | 21H3B1 28,500 27,400 27,400
JL2009 | 21HAL 25,300 26,000 27,500
JL2019 | 21H31 28,500 27,200 28,100
AR FFm) % [_JL2000 | 2187 27.500 26.000 27,000
JL3912 | 21H31 — 26,800 27,400
JL2006 | 21HAIL 25,100 27,500 28,400
JL2010 | 21H31 27,200 28,900 —
JL2016 | 21HAI 27.200 28,900 —
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BR L2 e . . }
BAYR | E5% pE=£::] EEE B
AR (BEE) =4I (FFm) | AR(EE) % JL2501 1B 7.400 28,100 5,500 25,500
JL2503 1B 7,400 28.100 5,500 25,500
JL2505 1HET 7.400 28,100 5,500 25,500
ALIR (FF s F |_JL2500 1B A 200 — 4,600 24,600
JL2514 1HET ,800 23,800 5,700 —
JL2518 1B ,300 26.300 8.200 —
KR (77 =il (R E) K (RFH % |_JL2081 1H#I ,300 — 100 25,100
[ JL2085 1B — 23,600 200 25,200
JL2087 1HET 23,600 23,600 4,700 24,700
hHE(RER) JL2084 1B Al 22.800 25.100 6.100 27.500
JL2086 | 21HBI — 27,000 30,200 —
JL2088 | 21HAl 26.700 27.000 30.200 —
EE=HIRFFR) EER JL3513 | 21EAT 30.800 -— 29,500 29,500
JL3515 | 21HAl 30.800 — 29,500 29,500
ALIREFa)F | JL3510 | 21HAT 29,300 29,500 31,000 —-
JL3512 | 218&1 29,300 29,500 31,000 —
FIRCPA) =X 5] FRCHE) $ JL565 21HAL 32,000 -— 28,700 28,700
JL567 | 21HAI 32,000 — 28.700 28,700
JL569 | 21HAl 28,800 29,000 30,000 28,000
ESHEES JL562 21 B A 29.300 28,700 33.500 —
JL564 | 21HAl 28,300 27,700 32,500 —
JL566 | 21HAI 26.800 26.200 31.800 —
FRCHE) =)l FRCHE) $ JL551 21 B Al 31,000 31.200 28,900 28.900
JL553 | 21HAI 32.200 32.400 30.300 30.300
JL555 | 21HAl 29,000 32,400 30,200 30,500
JL557 | 21H&I 28.100 26.800 29,700 30.900
FEVIES JL552 | 21HAl 28,900 29,800 29,100 29,300
JL554 | 21HAI 26.500 29,800 32,500 32,500
JL556 | 21HAl 31,400 31,200 34,000 35,500
JL558 | 21HAI 30.700 30.700 33,500 34,800
HR(HE) =8 FRCHE) $ JL541 21 H AL 31.200 — 28,200 28,200
JL543 | 21HAEl 29.200 — 27.200 27,200
JL545 | 21HAl 27,500 26,500 29,200 29,200
IS JL540 21 B A 27.000 29.200 27.500 28,300
JL542 | 21HAl 27,000 29,200 27,200 28,300
JL544 | 21HET 28,000 28,700 30,300 —
HRCHE) =%k HRCHB) % JL573 21HAL 32,500 34,500 29,600 26.600
JL575 | 218l 29,800 — 29,600 29.600
JL577 | 21HEl 29,300 — 29,600 29,600
JL579 | 21HAm 30,500 30.400 31.400 35,400
HIRF JL570 | 21H&I 31,500 35,400 25,400 29,600
JL572 | 2180 27.800 31,400 27.200 —
JL574 | 21HAl 27,800 31,400 27,800 —
JL576 | 21HAl 30,000 25,700 29,900 —
R (CHE) =K HRCHB) % JL585 21HAL 27.300 29.600 23,800 22,600
JL587 | 21HAI 26,700 — 24,800 24,700
JL589 | 21HAl 24,400 21,900 27,000 27,500
BEER JL584 | 21HAI 24,800 25,600 23,600 25.600
JL586 | 21HAl 24,100 23,000 28,900 —
JL588 | 21HAI 24.100 22,600 28,000 —
HRCHE)=F# HRCHB) % JL141 21HAL 16.800 19,000 18,000 19.000
JL143 | 2180 16.800 20,000 19.000 20,000
JL145 | 21HAl 16.800 19.000 18,000 19.000
JL147 | 21880 16.800 19.000 18.000 19.000
JL149 | 21HAl 17.800 20,000 19.000 20,000
JL151 21 &l 16.800 19.000 18.000 19.000
BERE JL140 | 21HET 16.800 19.000 18,000 19.000
JL142 | 21880 16.800 20,000 19.000 20,000
JL144 | 21HAl 16.800 19.000 18,000 19.000
JL146 | 21HAT 16,800 19.000 18,000 19.000
JL148 | 21HAEl 17.800 20,000 19,000 20,000
JL150 | 21H&l 17,800 19,000 18,000 19,000
HR(CHE) RRCHB) % JL155 21 HAT 17.400 18,500 17.500 17.500
JL157 | 21880 17,400 17,500 16,500 18,000
JL159 | 21HAl 17.400 17.500 16.500 18,500
R JL154 | 21880 17,400 18,500 17,500 17.500
JL156 | 21HAl 17.400 17.000 16.500 18,000
JL158 | 21HAI 17,400 17,500 16,500 18,500
HR(CHE)=MA RRCHB) % JL161 21 HAT 16.400 — 15,700 15700
JL163 | 21HAI 17,900 — 17,500 17,500
JL165 | 21HAl 15,600 16.800 16.500 17.500
JL167 | 21HAl 18,300 15,800 17,800 —
HER JL162 21 HAT 17.900 — 16.600 16.800
JL164 | 21HAI 16,400 17,100 15,600 —
JL166 | 21HAl 17.400 16.600 18,100 —
JL168 | 21HAI 17,600 15,600 17,300 —
HRCHE) =/Ma RRCHB) % JL183 21 HAT 12,700 — 13,700 13,700
JL185 | 21HAI 13,700 — 13,700 13,700
JL187 | 21HAl 12,700 13,700 13,700 13,700
JL189 | 21HAI 12,700 13,700 13,700 13,700
JL191 21H Al 13,200 13,700 13,700 13,700
JL193 | 21HAI 13,200 13,700 13,700 13,700
IMAFE JL182 21881 12,700 — 13,700 13,700
JL184 | 21HAI 12,700 — 13,700 13,700
JL186 | 21HAEl 12,700 — 13,700 13,700
JL188 | 21HAI 12,700 13,700 13,700 —
JL190 | 21H®EM 13,700 13,700 13,700 —
JL192 | 218l 13,700 13,700 13,700 13,700
R CHE) =R RRCHB) % JL231 21 HAL 13,900 — 14.100 14,100
JL233 | 21HAT 13,000 15,400 13,400 13,500
JL235 | 21HAEM 13,000 15.400 13,400 13,500
JL237 | 21880 13,000 15.400 13,400 13,500
[EES JL232 21 B 14,000 — 14,200 14.200
JL234 | 2180 15,500 — 14,700 14,700
JL236 | 21HAEl 13,000 14,400 14,400 14,700
JL238 | 21HAI 13,000 14,400 14,400 14,700
RR(HE) =58 RRCHB) % JL253 21 HAL 13,800 15,100 14,000 14,000
JL261 21881 16,200 16,100 14,600 16.400
JL263 | 21HAEl 17.100 16.100 16.400 -
LE% JL252 | 218l 14,700 — 14,900 14,900
JL254 | 21HAl 16.200 — 15,600 15,600
JL256 | 21HAl 16,700 16.400 17,200 17,200
JL258 | 21HAEM 16.700 16.400 17,200 -
JL260 | 21HAl 16,700 16.400 17,200 —
FRCPA) =WLOFE RRCHB) & JL291 21 HAL 13,700 18.900 13,900 13.900
JL293 | 218l 16,900 16,500 15,500 17,500
JL205 | 21HAEM 17,000 16.300 17.700 18,700
i=E=T83 JL290 21 B AL 15,100 -— 15,300 15,300
JL292 | 21H®Em 17.900 17.000 15,500 17.000
JL294 | 21H&El 16,500 17.300 17,000 19.500
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HRCHE)=HE ESACENES JL277 =KD 0,500 21,200 0,700 20,700
JL279 1B 2,700 — 3,000 23,000
JL283 1HET 0,600 22,400 0,800 —
JL285 1B 0,600 22,400 0,800 —
JL287 1HET 4,100 22,400 4,400 —
HER JL276 1H#i .000 21,700 9,200 19.200
JL278 1HET ,100 — 0,300 20,300
JL280 1B 100 23.100 0,300 20,300
JL284 1HET ,700 23,100 4,300 —
JL286 1 BT ,700 22,500 3,800 23,800
HRCHE) =8 FRCHE) $ JL453 21HAL 19.700 20.900 19.400 19.400
JL455 [ 21HAm 19,700 20.900 19.400 19.400
JL457 | 218l 19,700 20,900 19,700 19.700
JL459 [ 21HAEm 19,700 19.900 19.900 20.900
JL461 21H Al 19,700 19.900 19,900 20,900
JL463 | 21HAI 19,700 19.900 19.900 20.900
JL465 | 21HAl 19,700 19.900 19,900 20,900
mESR JL452 21 H AL 17.700 18.900 17.900 17.900
JL454 | 21HAl 19,100 22,000 19,000 19.000
JL456 | 21HAI 19,100 22,000 19,000 19.000
JL458 | 21HAl 17,700 19.900 19,300 20,300
JL460 | 21HEm 17700 19.900 19.300 20.300
JL462 | 21HAl 19,700 19.900 19,900 20,900
JL464 | 21HEm 19,700 19.900 19.900 19.900
FRCHE) =3k FRCHE) ® JL4T75 21HAL 16.100 20.300 16.300 16.300
JL477_| 21H%m 18,800 22,600 17.700 17.700
JL479 | 218l 18,000 21,800 17,700 19.300
JL481 21881 17,500 20.300 18.400 19.300
JL483 | 21HAl 17,500 20,300 18,400 19.300
JL485 | 21HAI 18,800 19.300 20,000 20,700
JL4g7 | 218l 20,800 17.700 21,000 22,600
I JL474 | 21H8EL 18.900 20.600 16.300 16.300
JL476 | 21HAl 19,400 20,600 17,000 19.300
JL478 | 21HEI 17.800 20.600 18,500 20.300
JL480 | 21HAl 17,800 20,600 18,500 20,300
JL482 | 21HAEm 18.000 20,600 20,300 22,100
JLaga | 21HAEl 20,400 17.800 20,600 22,400
JL486 | 21HAm 20.700 17.800 20,900 22,700
HRCHE) =24 HRCHB) % JL491 21HAL 23.600 26.300 21,700 21,700
JL493 | 218l 24,100 26.800 22,200 22.200
JL495 | 21HAl 20,500 27,100 21,700 21,700
JL497 | 218l 21,500 21,700 21,700 26.400
JL499 | 21HAEl 23,900 17.600 24,100 27,300
B3 JL490 | 21HAm 19.100 26,000 18.300 18.300
JL492 | 21HAm 22,200 26,000 21,400 21,400
JL494 | 218N 21,200 22,500 23,500 24,000
JL496 | 21HAl 24,800 21,400 25,000 25,200
JL498 | 21HAm 24,800 21,400 25,000 25,200
FRCHE) =f1l HRCHB) % JL431 21HAL 21.900 28.300 21,100 21,100
JL433 | 2180 22,900 28.300 23,100 23,100
JL435 | 21HAl 20,900 25,600 23,100 23,100
JL437 | 2188l 18,800 22,600 24,200 26.200
JL439 | 21HAEl 26,000 21,100 25,800 ——
JL443 | 21880 26,000 21,100 25,800 28,300
PAIES JL430 | 21HEl 20,400 26,700 18,500 18,500
JL432 | 218l 26,100 — 20,600 20,600
JL434 | 21HEl 18,300 24,300 21,600 21,600
JL436 | 21HAm 22,400 21,600 23,100 23,600
JL438 | 21HAl 22,900 21,100 25,200 28,000
JL440 | 21HAET 25,500 21,100 24,300 27,300
R CHB) =3t Am RRCHB) % JL371 21 HAT 21.100 22,000 18,900 18,500
JL373 | 2180 21,900 23,700 20,400 20,900
JL3971 | 21HAl 21,900 23,700 20,400 20,900
JL375 | 2180 21,900 22,400 22,000 26,000
JL377 | 21H&El 24,100 22,100 23,400 26,500
JL379 | 218l 23,500 22,100 23,400 26,000
EI#¥IES JL370 21881 19,600 20.400 18.900 18,000
JL372 | 21880 22,700 23,100 19,700 19,700
JL374 | 21HAl 21,400 21,800 21,000 25,000
JL3972 | 21HB0 21,400 20,700 21,000 25,000
JL376 | 21HAl 24,100 20.400 22,100 26,200
JL378 | 21HAI 22,400 17,800 20,200 23,800
HERCHE) =K% RRCHB) % JL661 21 HAT 25,000 — 23,100 23.100
JL663 | 21HAI 24,500 — 23,100 23,100
JL665 | 21HAl 24,500 — 23,100 23,100
JL667 | 21HAI 25,000 25,900 23,600 23,600
JL669 | 21HAI 25,000 25,700 25,200 25,200
JL671 21 &1 25,500 23,600 25700 25,700
R F JL662 KD 19,800 25,900 21,600 21,600
JL664 | 21HAI 24,500 25,900 23,300 23,300
JL668 | 21HAI 24,500 25,900 23,300 23,300
JL670 | 21HAT 23,500 25,800 25000 25,900
JL672 | 21HAl 24,500 24,300 25,200 —
JL674 | 21HAI 24,500 23,700 25,200 —
RR(HE)=R& RRCHB) % JL605 21 HAL 24,200 27.900 22,200 22,200
JL607 | 218l 24,200 — 22,200 22,200
JL609 | 21H®EM 24,200 27.900 24,300 24,300
JL6T1 218 A1 24,200 27,900 24,300 24,300
JL613 | 21HAED 24,200 20,900 24,300 24,300
JL615 | 21HAl 22,900 20,900 24,000 24,000
RIGS JL606 21 B 20.300 27.100 20,900 20.900
JL608 | 21HAl 22,000 27,100 21,200 21,300
JL610 | 21H®ED 22,000 24,700 24,000 24,300
JL612 | 218l 23,800 24,400 24,600 27,900
JL614 | 21HAEM 23,800 24,400 24,600 27,900
JL616 | 218l 24,300 24,000 24,200 24,200
HR(HE) =X RRCHB) % JL623 21 HAL 20.700 26.700 21.400 21,400
JL625 | 21HAl 21,700 — 21,400 21,400
JL627 | 21HAEM 21,700 — 21,400 21,400
JL629 | 21HAI 21,700 — 22,900 22,900
JL631 21H Al 21,200 22,500 22,900 22,900
JL633 | 21HAI 21,200 22,500 22,900 22,900
JL3955 | 21HAl 21,700 22,500 24,400 24,400
JL637 | 21HAl 21,700 21,100 24,400 24,400
JL639 | 21HAEM 21,700 19.800 23,400 23,400
AR S JL622 | 218l 21,700 26,700 20,300 20,300
JL624 | 21HAED 21,700 26,700 20,300 20,300
JL626 | 21HAl 21,700 26,700 20,300 20,300
JL628 1 BT 0,100 23.100 00 22,900
JL630 1HET 0,100 22,900 400 23,900
JL632 1B ,700 22,300 400 23,900
JL634 1HET ,700 22,300 400 23,900
JL3956 1B ,700 22,000 400 ——
JL638 1HET ,700 19.500 2,900 22,900
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FRCHE) =5k ESACENES JL687 1B 400 -— 0.600 20,600
JL689 1B 1400 — 1800 21,800
JL69T 1HET ,400 24,900 ,800 21,800
JL693 1B 1400 23,300 ,000 22,800
JL695 1HET 1400 21,300 ,600 ,800
JL697 1B 1400 19.600 ,300 ,300
e JL688 18I .000 26.700 ,600 9,600
JL690 1B 500 26,700 ,000 2,000
JL692 1HET 0,000 26,100 2,000 24,900
JL694 1 BT 0,600 24,100 2,600 ——
JL696 | 21HAl 23,300 24,100 22,600 —
JL698 | 21HAI 23,300 22,000 22,100 —
HR(HBR) =ERS FRCHE) ® JL641 21HAL 19.400 27.900 18.900 18.900
JL643 | 21HAEI 23,700 — 20,600 20.600
JL645 | 21HAl 23,700 — 21,700 21,700
JL647 | 21HAm 22,800 — 22,600 22,600
JL649 | 21HAI 19,400 24,100 23,000 23,000
JL651 21881 20,500 22,200 24.100 23,000
JL653 | 21HAl 22,500 22,200 23,000 23,000
JL655 | 21HAI 23,000 19,500 23.200 23,200
ERER JL640 21HAL 18.700 27.900 18.900 18.900
JL642 | 21HRI 21,000 27.900 21,700 21,700
JL644 | 21HAI 21,000 27,900 21,700 21,700
JL646 | 21HAI 21,000 27.100 22,700 22,700
JL648 | 21HAI 21,000 23,600 22,700 24,000
JL650 | 21HAI 23,000 22,800 24.100 o
JL652 | 21HAl 23,000 22,600 23,900 —
JL654 | 21HAI 23.400 21.200 24,100 —
FR (B A) = IR (B Fa) | JL3049 | 21HAT 30.000 24,500 25,300 28,700
JL3040 | 21HAL 25,600 28,700 24,500 24,500
HR () =12k JL3057 | 21HB1 27,100 20,900 24,500 29,100
JL3052 | 218&1 19,800 27.900 20,000 20,000
KR () =% 51 JL2101 | 21E#T — — 27,800 27.800
JL2102 | 21HAL — 27.800 28,800 28.800
KR (1) =ERfR JL2123 | 21E81 23,700 25200 24,700 24,700
£ JL2124 | 21HET 23,700 25,200 24,700 24,700
KR (B =& KR () JL2151 | 21E81 23,300 23.400 23,500 23,000
JL2153 | 21HAT 23,300 23,400 23,500 23,000
JL2157 | 21HAI 22,800 23,000 23,500 23,600
EHRE JL2152 | 21HAT 23,300 25,500 23,500 24,500
JL2158 | 21HAI 23,300 23,500 24,500 24,600
Kk (FFH) =@ KRFFE | JL2i71 | 21881 21,400 21,700 21,300 21,300
JL2173 | 21HAT 20,900 21,100 20,600 21,200
JL2179 | 21HAT 20,900 20.000 21,600 22,000
PEES JL2172 | 21HET 21,400 21,800 21,400 20,600
JL2174 | 21HET 21,400 21,100 23,300 23,700
JL2176 | 21HBI 21,400 21,100 23,300 23,700
Kk (FFH =1l& KRB E | _JL2201 | 21881 22,600 21,000 20,700 20,700
JL2203 | 21HAI 23,100 21,000 20,700 20,700
JL2205 | 21HAT 22,600 22.200 23,300 22,500
JL2207 | 21HBI 22,600 22,200 23,300 22,500
JL2209 | 21HAT 22,600 21,600 24,300 24,500
JL2211 | 21HB1 22,600 21,600 24,300 24,500
JL2213 | 21HAT 22,600 21,600 24,300 —
(=3 JL2200 | 21E&] 22,100 23.600 21.800 21,800
JL2202 | 21HAD 23,700 24,600 22,000 22,000
JL2204 | 21HBD 21,800 23,600 24,100 24,400
JL2206 | 21HAT 21,800 23,600 24,100 24,400
JL2208 | 21HBI 21,800 23,600 24,100 24,400
JL2210 | 21HE1 23,700 21,200 24,400 24,400
JL2212 | 21HAT 23,700 20,300 23,200 24,400
KR () =%7i8 Rk (FFH%E [ JL2241 [ 2188 17,300 17,600 17,000 17.000
JL2243 | 21HET 20,400 18,600 18,000 18,000
JL2247 | 21HET 18,400 19,600 18,600 19,600
JL2251 | 21HA1 19,900 19.400 19,900 20,100
FimFE JL2240 | 21HET 19,600 19,700 19,800 20,300
JL2244 | 21HED 20,100 19.700 19,800 20,300
JL2248 | 21HBT 19,100 17,700 20,200 19,700
JL2250 | 21HA1 19,100 17700 20,200 18.800
KR () =il Rk (FFH % [ _JL2s01 [ 21HEm 12,600 — 12,300 12,300
JL2305 | 21HAI 11,600 — 12,300 12,800
JL2309 | 21HET 11,000 11,000 11,000 —
PATIES JL2302 | 21HET 11,000 — 11,000 11,000
JL2306 | 21HB1 11,000 11,000 11,000 —
JL2310 | 21HAl 12,400 12,800 12,800 —
KB (B =K% KR (FFH % [ _JL2361 [ 21HEm 16,100 — 15,800 15,800
JL2365 | 21HAI 15,600 16.300 16.300 16.300
JL2367 | 21HB1 16,100 15,300 16,400 —
R F JL2362 | 21HAT 15,700 — 15.400 15,400
JL2364 | 21HB1 15,700 15,400 16,000 —
JL2366 | 21HAI 15,700 15.400 16.000 —
KR () =Ri& KR (FFH%E [ _JL2s71 [ 2188 16,300 — 16,100 16,400
JL2373 | 21HAI 16.300 — 16.100 16.400
JL2375 | 21HE1 15,000 16,200 16,100 —
JL2377 | 21HAI 16.800 15,700 17.100 —
RiIG% JL2372 | 21H#T 16.200 -— 15,700 15,700
JL2374 | 21HAL 15,000 15.200 15,800 -
JL2376 | 21HB1 15,000 15,200 15,800 —
JL2378 | 21HAL 15,500 14,300 16.400 —
KR (FFH % | _JL2383 | 21HEm 15,200 — 14,500 14,500
JL2385 | 21HGAIL 15,200 — 15,200 15.200
JL2389 | 21HB1 15,200 15,200 15,200 —
REAF JL2382 | 21HAL 14.900 — 14.900 14,900
JL2386 | 21HBI 15,200 15,200 15,200 —
KR () ==& KB (1) % JL2431 [ 21HET 14,100 17.700 14,300 14.300
JL2433 | 21H31 18,700 — 17,700 17.200
JL2437 | 21HAL 19,100 16.700 18,800 -
JL2441 | 21831 19,100 16,700 18,800 —
JL2443 | 21HBL 19,100 16.700 18,800 —
e JL2430 | 21HAT 16,500 -— 16,700 16,700
JL2432 | 21HAI 16,500 — 16,700 16.700
JL2434 | 21HB1 18,000 18,200 18,600 —
JL2438 | 21HBI 18,000 18,200 18,600 —
JL2442 | 21HET 18,900 18,200 19,200 —




EE#AA 2015/4/29  ~ ERBEHE
7/17 1/18 7/19 /20
BR L2 e . . }
BAYR | E5% pE=£::] EEE B
KR (F) =&R KR () % JL2401 1B 15,500 -— 14,300 4,300
JL2407 1B 17,500 6,200 16.200 6.700
JL2409 1HET 15,500 5,700 16,200 7,000
JL2411 1B 16,000 5,200 16,700 ——
JL2415 1B 81 16,000 5,200 16.700 -—
JL2419 1B 16,000 5,200 16,700 —
EREH JL2400 1H#I 14,100 — 14,300 4,300
JL2402 1B 14,500 — 14,700 4,700
JL2404 1HET 14,500 17.700 16,200 6,200
JL2406 1 BT 14,500 17.700 16.200 6.200
JL2410 | 21HET 17,500 17.700 17,900 —
JL2412 | 21HAL 17,500 15.700 17.200 —
JL2414 | 21HBT 17,500 15,700 17,200 —
BEE(PER) =R (FT %) EFEB(PEHFE [_JL3103 | 21HH] 29.900 — 27.900 27.900
JL3105 | 21HA1 32,200 — 28,400 28,400
JL3107 | 21HAL 29,900 32.400 27,000 27,000
JL3115 | 21H31 27,000 23,900 26,800 26,800
JL3117 | 21H8m 27,000 23,900 26.800 26.800
ARG Fm)FE | JL3100 | 21HAT 21.800 23.900 23,900 23,900
JL3106 | 21HAl 26.500 26.700 29,700 29,700
JL3110 | 21H31 27,300 26,700 30,300 —
JL3114 | 21881 27,300 26.700 30.300 —
JL3118 | 21HA1 27,300 26,700 32,400 —
LR (FHFR)=FH FLIR (B FRR)F | JL2803 | 21HAT 17.100 18.900 18.400 18.400
JL2805 | 21HBI 18,700 18,900 20,900 —
JL2809 | 21HAN 18,700 18.900 20,900 —
EHRR JL2804 | 21EAT 19.700 18,700 18.400 18.400
JL2806 | 21HAl 17.100 18.400 20,900 20.900
JL2810 | 21HBT 17,100 18.400 20,900 20,900
AL (FF %) =R IR FR)F | JL2821 | 21HAT 18.500 20.400 19.500 19.500
JL2823 | 21HBI 20,200 20,400 22,400 22,800
JL2827 | 21B&1 20.200 20,400 22.400 22,800
PPNEES JL2822 | 21HAL 21,300 21,900 21,200 20.400
JL2826 | 21HGAl 18,500 19,500 19,500 20,500
JL2828 | 21HBI 18,500 19.500 19,500 20,500
Fim=F0R(FFE) R JL2871 | 21HAL 24,800 27.100 23,000 23,000
JL2875 | 21HAI 24,800 27,100 23,000 23,000
HREFFROE [_JL2872 | 21HAT 20,900 23,100 24,700 24,700
JL2876 | 21HBI 23,800 24,000 26,600 ——
W& =F0% (FFm) [TF2E3 JL2901 | 21HAT 25,000 — 21.800 21,300
JL2003 | 21HAl 25,500 — 21,300 21,300
JL2905 | 21HAT 22,300 — 21,300 21,300
JL2007 | 21HAI 24,800 22,300 22,500 ——
JL2909 | 21HAT 24,800 21,800 22,300 23.300
ARG Fm)F [ JL2900 | 21HAT 22,700 — 20,700 20,700
JL2902 | 21HAT 22,700 — 20,700 20.700
JL2004 | 21HBT 20,600 22,400 22,800 ——
JL2906 | 21HAl 24,100 21,300 24,500 —
JL2010 | 21HAI 24,100 21,300 24,500 —
L& =4I T LE% JL3403 | 21HAT 30,900 — 31,000 31,000
ALIR (BT % | JL3406 | 21HA] 30.400 31,700 32,200 ———
BRE=1& [HEES JL3531 | 21HAl 26,300 26.800 27.100 27.100
JL3537 | 21HAI 26,200 26,100 27,300 ——
[TF2E3 JL3530 | 21HAl 27.200 27.400 26.500 27.100
JL3538 | 21HAI 26,300 27,100 26,500 ——
R == 5 [HEES JL3623 | 21HAN 8,000 8.200 8.200 8.200
JL3631 | 21HAI 8,000 8.200 8,200 8.200
JL3633 | 21HAN 8,000 8.200 8.200 8.200
JL3637 | 21HAI 8,000 8.200 8,200 8.200
JL3641 | 21HB0 8,000 8,200 8,200 8,200
e JL3620 | 21HAT 8,000 8.200 8.200 8,200
JL3624 | 21HB1 8,000 8,200 8,200 8,200
JL3632 | 21HAI 8,000 8,200 8,200 8.200
JL3634 | 21HB1 8,000 8,200 8,200 8,200
JL3640 | 21HAI 8,000 8,200 8,200 8.200
AHE (MR =8 ZEECMOFE | J14333 | 2187 16,800 — 16,400 16,400
FinF JL4334 | 21HAL 16.800 17.000 17.100 —
AHE (MR =1/ AEECMOFE | JL4407 | 2187 15,000 14,700 15,200 15,200
EEEES JL4406 | 21HET 14,800 15,000 15,000 15,000
AHE (MR =8EX ZEECMOFE | _JL4341 | 2185 20,200 — 17,600 17.600
JL4345 | 21HBT 16.900 17.200 18,500 20,100
JL4347 | 21HET 17,400 17,200 19,300 —
REAR JL4342 | 21HAT 17.400 — 17.300 17.300
JL4346 | 21HB1 17,500 17,200 18,700 20,200
JL4348 | 21HBT 17,700 16.900 20,200 —
BRI =8 FEES JL3525 | 21HB1 23,400 25,100 25,100 25,100
TR JL3524 | 21HAT 24,400 25.100 25.100 25.100
A8 = FLOR (BT F %) Gk JL2857 | 21HB1 27,500 27,700 27,700 —
AL T % | Jios5s | 21HEN 27,500 — 27,700 27,700
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s B4 5TA 5478 447C
kg . BEW | EOW | e | T @Em | BRM | E W | o | TR | ga. | BEW |E—0H | Ge
MEAMAR | <R BElE | BBE | P ) mAME | SR BEIE | BBIE | P )@AKIR| CU | @ik | #izik | 7
KB (BSEE) =ih#8 (GR#R) | KBx (BSFE) % Uoo B Al ,800 15% 0 B Al 400 8% B 8l .100 b 4%
00! Bl 800 15% 0 B Al 1400 8% BA1 ,100 4%
00! Bl 800 15% 0 B Al 1400 8% BA1 ,100 4%
iR (IRER) U0o:; B Al ,800 15% 0 B Al 400 8% B 8l .100 b 4%
U004 Bl 800 15% 0 B Al 1400 8% BA1 ,100 6 4%
U008 Bl 800 15% 0 B Al 1400 8% BA1 ,100 4%
12 = h#E (GR#R) [HEES U051 B Al 000 16% B Al 4,700 0 6% B 8l 4,100 7%
| NU053 Bl ,000 16% B Al 4,700 0 6% BA1 4,100 7%
U057 Bl ,000 16% B Al 4,700 0 6% BA1 4,100 6 7%
U061 Bl ,000 16% B Al 4,700 0 6% BA1 4,100 6 7%
U063 Bl ,000 16% B Al 4,700 0 6% BAT 4,100 7%
NU065 HAT ,000 1 HAT 4,700 0 6% BT 4,100 3 7%
h#E GIRER) F | __NU050 B &l ,000 1 B Al 4,700 0 6% B il 4,100 % 7%
NU052 HAT 000 1 HAT 4,700 0 6% BT 4,100 % 7%
NU054 HAT 000 1 HAT 4,700 0 6% BT 4,100 % 7%
NU056 HAT 000 1 HAT 4,700 0 6% BT 4,100 % 7%
NU060 HAT 000 1 HAT 4,700 0 6% BT 4,100 % 7%
NU062 HAT 000 HAT 4,700 0 6% BT 4,100 % 7%
RRCRE)=FH1E FR(CRE) % [__NU0Ti B A1 47,200 B Al 41,500 40% B il 500 41% 43%
NU073 Skl 47,200 Skl 41,500 40% Sl ,500 41% 43%
RER NU070 B a1 47,200 Ba1 41,500 40% =Kl ,500 41% 43%
NU076 Skl 47,200 B Al 41,500 40% Sl .500 41% 43%
RERCRAE)=2& R (CHE) % [ NUO i 47,000 4 7 i 40,300 5 8% THET ,200 % 41%
EEE NUO: 1 47,000 4 7 i 40,300 8% PEEK ,200 % 41%
KBz (BiEE) =HR1E ABR (BI7E) % | NUO B &l 40,300 =kl 500 % 3HAT ,900 % 5%
RiESH NUO! B &l 40,300 =kl 500 % 3HAT ,900 % 5%
A= b (IRER) IV FE NU037 B &l 7,100 1 B Al 100 3 781 100 4% 7%
SREEGIBER) $ | NUO036 Skl 7,100 1 =kl 00 h 7EEI 100 4% 7%
2 E (hED) =ih#E GRER) | &&= (AR F[_NU04I B &l 5,200 1 B Al 600 5 7% B il ,000 4% 8%
NU043 Skl 5,200 1 HAT ,600 % 7% BT ,000 4% 8%
NU045 Skl 5,200 1 HAT ,600 % 7% BT ,000 4% 8%
NU047 HAT 5,200 1 HAT ,600 % 7% BT ,000 4% 8%
R GIRER) $¢ | __NU042 B &l 5,200 1 B Al 00 % 7% B il ,000 4% 8%
NU044. HAT 5,200 1 HAT ,600 % 7% BT ,000 4% 8%
NU046 Skl 5,200 1 HAT ,600 % 7% BT ,000 4% 8%
NU048 Skl 5,200 1 BT ,600 % 7% BT ,000 4% 8%
[ NUOTT 3B 32,100 16 21% 3R 29,000 24% 29% THEI | 25900 33% 37%
SR (GIRER) F | NUO16 3EE] 2,100 16 21% 3EAT 29,000 24% 29% 7881 25,900 33% 37%
R GRER) =B Sh#E GIRER) $ | __NUS51 i 6 0,900 44 48% il 9,900 49% 53% 3EBI 8,900 55% 57%
RAC801 i 6 1,200 43 46% TI= 9,900 49% 53% 3ERI 8,900 55% 57%
NU557 i 5 0,900 44 48% TI= 9,900 49% 53% 3B AT 8,900 55% 57%
NU559 1] 0,900 44 48% i 9,900 49% 53% 3B AT 8,900 55% 57%
NU565 1] 0,400 474 50% i 9,400 52% 55% 3B AT 8,400 57% 60%
NU567 1] 0,400 47% 50% i 9,400 52% 55% 3B AT 8,400 57% 60%
NU571 1] 0,400 47% 50% i 9,400 52% 55% 3B AT 8,400 57% 60%
NU573 i 5 0,400 47% 50% TI= 9,400 52% 55% 3B AT 8,400 57% 60%
EEES NU552 i 5 0,900 44% 48% TI= 9,900 49% 53% 3ERI 8,900 55% 57%
NU556 i 5 0,900 44% 48% TI= 9,900 49% 53% 3ERI 8,900 55% 57%
NU558 i 5 0,400 47% 50% TI= 9,400 52% 55% 3ERI 8,400 57% 60%
NU560 i 5 0,400 47% 50% TI= 9,400 52% 55% 3ERI 8,400 57% 60%
NU564 TlE] 0,900 44 48% TI= 9,900 49% 53% 3ERI 8,900 55% 57%
NU566 TlE] 0,900 44 48% TI= 9,900 49% 53% 3ERI 8,900 55% 57%
NU572 TlE] 0,900 44 48% TI= 9,900 49% 53% 3ERI 8,900 55% 57%
RAC804 TlE] 0,400 47 50% TI= 9,400 52% 55% 3ERI 8,400 57% 60%
8 GRER) =R1E S#E GIRER) $ |__NU601 i 5 .900 58 60% il 9,900 62% 63% 3EBI 8,900 66% 67%
NUB05 TlE] ,500 55 58% TI= 0,400 60% 62% 3ERI 9,400 64% 65%
NUB07 TlE] ,500 55 58% TI= 0,400 60% 62% 3ERI 9,400 64% 65%
NU609 TlE] ,500 55 58% TI= 0,400 60% 62% 3ERI 9,400 64% 65%
NU613 i 5 0,900 58 60% TI= 9,900 62% 63% 3ERI 8,900 66% 67%
NU617 i 5 0,900 58 60% TI= 9,900 62% 63% 3B AT 8,900 66% 67%
RAC705 i 0,900 58 60% 1] 9,900 62% 63% 3B AT 8,900 66% 67%
NU621 i 10900 58% 60% 1] 9,900 62% 63% 3E AT 8,900 66% 67%
NU625 i 10900 58% 60% 1] 9,900 62% 63% 3E AT 8,900 66% 67%
RER NU600 i 10900 58% 60% 1] 9,900 62% 63% 3E AT 8,900 66% 67%
NU608 1= 10900 58% 60% TI= 9,900 62% 63% 3E AT 8,900 66% 67%
NU610 TlE] 10,900 58% 60% TI= 9,900 62% 63% 3E AT 8,900 66% 67%
NUB12 TlE] 10,900 58% 60% TI= 9,900 62% 63% 3E AT 8,900 66% 67%
NU614 TlE] 11,500 55% 58% TI= 10,400 60% 62% 3E AT 9,400 64% 65%
NU618 TlE] 11,500 55% 58% TI= 10,400 60% 62% 3E AT 9,400 64% 65%
NU622 TlE] 11,500 55% 58% TI= 10,400 60% 62% 3E AT 9,400 64% 65%
NU626 TlE] 10,900 58% 60% TI= 9,900 62% 63% 3E AT 8,900 66% 67%
RAC708 HlE] 10,900 58% 60% i 5 9,900 62% 63% 3E AT 8,900 66% 67%
BEh=AE =EEE RAC833 3B Al 10,400 22% 25% 3B Al 10,200 24% 27% 7E Rl 9,900 26% 29%
RAC837 3ER 10,400 22% 25% 3R 10,200 24% 27% THEL 9,900 26% 29%
RER RAC834 B H 9,900 26% 29% B H 8,800 34% 37% B 8,300 38% 40%
RAC838 3HB 10,400 22% 25% 3B 10,200 24% 27% 7H Bl 9,900 26% 29%
R GRER) =ARE 48 (IRER) F& | _RAC871 THEI 8,900 26% 30% FIEE] 8,800 27% 31% 7E Rl 8,700 28% 31%
RAC873 7HBI 8,900 26% 30% 7HBI 8,800 27% 3% THEL 8,700 28% 31%
RAC875 TE# 8,900 26% 30% 7TE#T 8,800 27% 31% THEL 8,700 28% 31%
NU211 TE# 8,900 26% 30% 7TE#T 8,800 27% 31% THEL 8,700 28% 31%
RAC879 TE# 8,900 26% 30% 7TE#T 8,800 27% 31% THEL 8,700 28% 31%
RAC881 TE# 8,900 26% 30% 7TE#T 8,800 27% 31% THEL 8,700 28% 31%
RAC883 TE# 8,900 26% 30% 7TE#T 8,800 27% 31% THEL 8,700 28% 31%
AKEH RAC872 7HBI 8,900 26% 30% 7TE#T 8,800 27% 3% THEL 8,700 28% 31%
RAC874 7HBI 8,900 26% 30% 7HBI 8,800 27% 3% THBI 8,700 28% 31%
RAC876 [EE ] 8,900 26% 30% THBT 8,800 27% 3% =L 8,700 28% 31%
NU212 L] 8,900 26% 30% THBL 8,800 27% 31% THEL 8,700 28% 31%
RAC880 L] 8,900 26% 30% THBL 8,800 27% 31% THEL 8,700 28% 31%
RAC882 L] 8,900 26% 30% THBL 8,800 27% 31% THEL 8,700 28% 31%
RAC884 L] 8,900 26% 30% THBL 8,800 27% 31% THEL 8,700 28% 31%
8 (RER) = 5RE A8 (IRER) | RACT21 381 19,500 40% 43% FIEE 19.400 40% 44% THEL 19,300 41% 44%
SHESR RAC724 3EA 19,500 40% 43% 3EFT 19.400 40% 44% 7HBI_|_ 19,300 41% 44%
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kg sEm | BF E—0H [ zz| 70 EE BREH | EOW | e | TH | gmg | BFW |E 8
AMR | T B5lE | ®EI®E || mAMR | T #5lE | ®EiE | mAMR| T T | #I5Ik | #I5IE

R GRER) =2 iR (IRER) B E 0.900 44 48% A H .900 B 8l ,900 55% 7%

B E 1,200 4 46% B E ,900 BA1 ,900 55% 7%

B E 0,900 44 48% B E ,900 BA1 ,900 55% 7%

B E 0,900 44 48% B E ,900 BA1 ,900 55% 7%

B E 0,400 479 0 B E 400 52 55t Bl 400 57% 0%

B E 0,400 47% 0 B E 400 52% 55% Bl 400 7% 0%

B E 0,400 47% 0 B E 400 52% 55% Bl 400 7% 0%

B E 0,400 47% 0 B E 400 52% 55% Bl 400 7% 0%

EEE B E 0.900 44% 48" A H .900 49% 53% B 8l ,900 55% 57%

B E 0,900 44% 48% B E ,900 49% 53% BA1 ,900 55% 7%

B E 0,400 47% 50% B E 400 52% 55% BAT 400 57% 0%

Tz 0,400 47% 0% i 5 ,400 52% 55% Bl 400 57% 0%

il 0,900 44 48% i 8 ,900 4 53% BT 00 55% 57%

il 0,900 44 48% i 8 ,900 4 53% BT 00 55% 57%

il 0,900 44 48% i 8 ,900 4 53% BT 00 55% 7%

il 0,400 47" 50% i 8 ,400 52 % BT 400 7% 0%

i GRER) =R1E bR (IRER) ¢ il 0,900 58 60% il 5 .900 62% % B il ,900 % 7%

i 5 ,500 55 58% i 5 0,400 0 3 Bl 400 4% 5%

i 5 500 55 58% i 5 0,400 0 3 Bl 400 4% 5%

il 00 5 8% i 8 0,400 0 % BT ,400 4% 5%

i 5 ,900 5! 0 i 5 ,900 25 3 Bl 00 % 7%

i B 0,900 5 0 il .900 62% % Sl ,900 % 7%

i 0,900 5 0 i .900 62% % i ,900 % 7%

i 0,900 5 0 i .900 62% % i ,900 % 7%

i 0,900 5 0 i .900 62% % B il ,900 % 7%

RER i 0,900 5 0 TiE] ,900 62% 3 Bl ,900 % 7%

i B 0,900 5 0 i .900 62% % B il ,900 % 7%

i 5 0,900 5! 0 TiE] ,900 62% 3 Bl ,900 % 7%

i 5 0,900 5! 0 TiE] ,900 62% 3 Bl ,900 % 7%

NU614. Ti=] 500 58 i 8 0,400 0 % BT ,400 4% 5%

NU61 Ti=] 500 58% i 8 0,400 0 % BT ,400 4% 5%

NU62 Ti=] .500 58% i 8 0,400 0 % BT ,400 4% 5%

NU62 i) ,900 60% TiE] 9,900 25 3 BA1 900 6% 7%

RAC708 il 0,900 60% 1iE] 9,900 62% 3 =il 900 6% 7%

EEEE EEES RACB33 | — — — — — — — — — — —

RAC837 — — — — — — — — — —

RiES RAC834 =) 10,400 25% BB 9,400 30% 32% =) 8,800 34% 37%

RAC838 — — — — — — — — — — — —
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B &x e E—M [z | T s85@ | B0 |z e =z A
EAE ek | T mAgIR | T gsix | W B EEx |
R (RE) =2 iR (ARER) ¥ | NU5S51 10,900 48% 0=l 9,900 53% 8,900 57%
RAC801 11,200 46% Eil=] 9,900 53% 8,900 57%
NU557 10,900 48% Eil=] 9,900 53% 8,900 57%
NU559 10,900 48% Eil=] 9,900 53% 8,900 57%
NU581 10,900 48% Eil=] 9,900 53% 8,900 57%
NU565 10,400 50% Eil=] 9,400 55% 8,400 60%
NU567 10,400 50% Eil=] 9,400 55% 8,400 60%
NU571 10,400 50% Eil=] 9,400 55% 8,400 60%
NU573 [E] 10,400 50% Eii=] 9,400 55% 8,400 60%
=S NU552 = 10,900 48% B H 9,900 53% 8,900 57%
NU556 B 10,900 48% Bl E 9,900 53% 8,900 57%
NU558 B 10,400 50% Bl E 9,400 55% 8,400 60%
NU560 B 10,400 50% Bl E 9,400 55% 8,400 60%
NU582 10,400 50% il 9,400 55% 8,400 60%
NU564 10,900 48% Bl E 9,900 53% 8,900 57%
NU566 B 10,900 48% Fil= 9,900 53% B 8,900 57%
NU572 B 10,900 48% Fil= 9,900 53% B 8,900 57%
RAC804 B 10,400 50% Fil= 9,400 55% B 8,400 60%
iR (RE) =RiE iR (ARER) ¥ | NU601 = 10,900 60% BiIE 9,900 63% B 8,900 67%
NU605 B 11,500 58% Fil= 10,400 62% B 9,400 65%
NUG607 B 11,500 58% Fil= 10,400 62% B 9,400 65%
NU609 B 11,500 58% Fil= 10,400 62% B 9,400 65%
NU617 B 10,900 60% Fil= 9,900 63% B 8,900 67%
RAC705 B 10,900 60% Fil= 9,900 63% B 8,900 67%
NU621 B 10,900 60% Fil= 9,900 63% B 9,100 66%
NU625 B 10,900 60% Bl E 9,900 63% B 8,900 67%
RiEHR NU600 10,900 60% Bl E 9,900 63% 8,900 67%
NU608 il= 10,900 60% Bl E 9,900 63% B 8,900 67%
NU610 Eil= 10,900 60% Fil= 9,900 63% 38 9,100 66%
NU612 Eil= 10,900 60% Bl E 9,900 63% 38 9,100 66%
NU614 Eil= 11,500 58% Bl E 10,400 62% 3B 9,400 65%
NU622 Eil= 11,500 58% Bl E 10,400 62% 3B 9,400 65%
RAC708 Eil= 10,900 60% Bl E 9,900 63% 3B 9,100 66%
NU628 Eil= 10,900 60% B E 9,900 63% 38 9,100 66%
BEa=Afi8 EEES RAC833 — —- — — — —- —- — —
RAC837 — —- — —- — —- —- — —
%k RAC834 BIH 10,400 25% L=l 9,400 32% BIH 8,800 37%
RAC838 — — — — — — — — —
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1/19 1/21
X 578 37A | 5478
EE! EE EE! &
EIRE) =24 SRR (FRER) .900 00 900 | ¢
900 00 900 | ¢
900 00 900 | ¢
900 00 900 | ¢
900 00 900 | ¢
400 00 400 |8
400 00 400 |8
400 00 400 |8
400 00 400 _|_8.
BE% 900 00 900 | ¢
900 00 900 | ¢
400 00 400 _|_8.
400 00 400 |8
.400 00 .400
.900
.900
.900
.400
SRR =R"E SRR (FRER) B | 9.900
10.400
10.400
10.400
RIEH
EH=AE BEHE
RIEH
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3{7E {TE
XFH L] .
¥ = | BEE | E—7H ¥ ey
mame | TR gnis | wsiE il Ay | T il
AR (B #R) =48 (&) PG EDES NU001 =Kl 1,000 [ 45% 49% [% +:23500 B i 1,000 :23,500
NU005 Rl 8100 | 53% 56% +:21,300 B Al 8,100 £:21,300
NU009 Rl 7,300 | 55% 58% ,500, £:21,300, H:18,100 B Al 7,300 2,500, £:21,300, H:18,100
hHE (RER) % NU002 =Kl 7,500 | 54% 57% =K 7,500 119,300
NU004 Rl 8,300 | 52% 55% B Al 8,300 8,800, H:19,300
NU008 Rl 500 | 44% 47% B Al ,500 100
120 = iR (B E) EEES NUO51 Rl 800 | 39% 43% |3 9,700, H:18,100 EE] ,800 9,700, H:18,100
NU053 Rl ,800 9% 43% |%+:19,700, H:18,100 EE] ,800 9,700, H:18,100
NU057 Rl 100 | 41% 45%  |%:19,700, £:19,000 EE] ,100 9,700, +:19,000
NUO61 EEi 1300 | 47% 51% |%:18,100, :16,600, H:18,000 =i 6,300 % [%:18,100, £:16,600, H:18,000
NU063 | 21HAED 7,100 | 45% 48% |4 H:18,600, £:16,600 21881 7,100 48% |4 H:18,600, £:16,600
NU065 | 21HAD 8,600 | 40% 44%  |£::19,200, £:17,600 21881 8,600 44%  |£::19,200, £:17,600
B (AR ER) NU050 | 21HGAI 5800 [ 49% 52% |4 2158l 5,800 52% 7,900, H:16,600
NU052 | 21HHEl 6,900 | 45% 49% |2 21881 6,900 49% 8,000
NUO54 | 21HAED 8400 | 40% 45% | 21881 8,400 45% 1800, H:19,700
NU056 | 21HAD 8400 | 40% 45% |3 , 21881 8,400 45% 20,800, H:19,700
NU060 | 21HAED 8400 | 40% 45%  |%::20,800, ,700 21881 8,400 45% 0,800, H:20,700
NU062 | 21HHED 8400 | 40% 45%  |#::20,800, £:17,700, H:20,700 21881 8,400 45% 0,800, £:17,700, H:20,700
RR(CPAE)=FRE RRCPE) % NUO71 21HAI [ 31,700 [ 52% 54% |&+:34,700 21HBI | 31,700 54% 4,700
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